F3R HTFHIMFERCBLA, £ (3X4) HAO —HER

i T F % HHE & K % 5 z 1SRRI | 15~645% | 65l L
B 5 55,548 | 149,817 | 76,329 | 73,488 | 25,238 | 112,247 | 12,332
A% J ] 56 139 76 63 23 99 17
X JI 1 T H 567 1,666 829 837 335 1,203 128
KX ) 2 T B 854 2,021 1,036 985 260 1,529 232
X ) 3 T H 510 1,131 583 548 132 875 124
x JI 4 T H 223 508 254 254 57 395 56
& R » = 1,996 5,523 2,745 2,778 971 4,231 321
it i 7 595 1,368 687 681 196 1,015 157
£ 1 T BH 305 761 376 385 100 571 90
f&a £ 2 T H 349 998 498 500 131 723 144
f& £ 3 T H 697 1,818 913 905 1254 1,303 261
Hi % = My 972 2,249 1,168 1,081 314 1,679 256
" £ W 4 T H 10 24 16 8 4 18 2
fs £ BT 5 T H 774 2,199 1,122 1,077 295 1,641 263
fa £ ® 1 T H 277 662 319 343 82 468 112
R & ® 2 T H 398 891 445 446 104 608 179
fe £ ® 3 T H 636 1,398 715 683 217 1,013 168
B £ ® 4 T H 349 850 439 411 151 625 74
fe & ® 5 T BH 746 1,685 914 771 218 | -+ 1,311 156
fs £ ® 6 T H 706 2,155 1,087 1,068 446 1,590 119
yicl & 1,281 4,041 1,972 2,069 | 608 3,176 257
2 ®m 1 T H 442 983 520 463 133 718 132
BE g 2 T H 488 1,308 681 627 163 955 190
B % 3 T H 307 768 420 348 157 551 60
2 % 4 T H 329 837 414 423 99 609 129
E®w & 1 T H 753 1,562 821 741 223 1,159 180
2 g & 2 T B 327 636 376 310 134 497 55
2 ® & 3 T B 694 1,472 773 699 170 1,144 158
N R & my 2,458 7,380 3,801 3,579 1,724 5,331 325
N s &/ 1 T H 363 850 446 404 115 687 48
N B/ 2 T H 483 | 1,181 579 602 153 898 130
AN B 3 T B 883 2,035 1,026 1,009 284 1,488 263
AN B 4 T B 451 1,068 525 543 151 787 130
N B 5 T H 961 2,764 1,391 1,373 744 1,997 23
N &/ 6 T B 929 1,825 999 826 245 1,446 134




% 33% W TFIMFERE GBI, Fi (3X9) A0 —WER )

T F 4 il G SR~ § 5 L’q 15R% ARG | 15~64i% | 65 LLE
N B 7 T H 909 2,292 1,165 1,127 335 1,804 153
N/ 8 T H 1,470 4,470 2,219 | 2,251 811 3,493 166
N M H 9 T H 811 2,144 1,063 1,081 279 1,587 278
N 2 i1} 1,148 3,393 1,717 1,676 - 618 2,558 217
Y B 6 ] 2,510 6,395 3,310 3,085 1,078 4,774 543
L F i) 2,425 6,789 3,482 3,307 1,216 5,099 474
= H T 6,392 19,205 9,645 9,560 3,571 14,511 1,123
T ® & 1 T H 716 1,956 976 980 337 1,504 115
F+ & & 2 T H 1,369 3,529 1,781 1,748 567 2,738 224
FS = 1) 25 63 30 33 6 39 18
X & 1 T H 626 1,928 993 935 445 1,328 155
X & 2 T H 504 1,245 669 576 158 947 140
X & 3 T B 543 1,407 746 661 223 1,052 132
X & 4 T H 440 1,157 583 574 155 888 114
x & 5 T H 368 1,019 502 517 117 811 91 |
X B 6. T H 126 353 186 167 46 274 33
# M 1 T B 812 1,764 821 943 189 1,189 386
# M 2 T H 483 1,251 638 613 257 879 115
# B 3 T H 464 1,630 823 807 597 996 37
# W 4 T H 326 684 344 340 74 487 123
# m 5 T H 756 1,649 926 723 264 1,222 163 |
& 1 1} 2,590 7,714 3,959 3,755 1,221 5,857 636
e o J& ] 1,606 4,792 2,473 2,319 986 3,501 305
#K B i) 528 1,691 809 882 170 1,307 214
 ®B 1. T H 802 1,556 864 692 192 1,189 175
B 2 T H 312 710 356 354 109 491 110
= B K ] 3,245 9,615 4,831 4,784 1,391 7,345 879
7R He Ay 264 706 369 337 150 518 38
7~ H ] 809 1,904 1,083 | 821 283 1,519 102




